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ii.4 Recombinant syllogisms and a comment on the three figures in
the two cases of absolute and necessary

{Prior Anal i.4, 25b26}
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[2.4.1] These things that we have been discussing [(i.e. propositions)] 106.4
are referred to as ‘premises” when one intends to study them as parts of
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a syllogism. We assert that a [proposition] that follows from a syllogism 106.5
falls into one of two cases. The first case is that neither the proposition
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nor its contradictory negation is mentioned explicitly in the "syllogism; syl-
logisms of this kind are called ‘recombinant’. An example is
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when you say

Every animal is a body,
(1) and every body is a substance,
so every animal is a substance.
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The second case is that
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the proposition or its contradictory negation, or more generally one of the
two polarities of the goal, is mentioned in it explicitly in some way.
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I call these [syllogisms] ‘duplicative’, though the common name for them
is ‘conditional’. The reason I don’t call them conditional is that
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some conditional [syllogisms] are in fact recombinant (?7?). 106.10
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[2.4.2] Let us start with the recombinant [syllogisms]. Some of them [are 106.11
predicative, i.e. they] consist of predicative [propositions]. We assert that
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every simple predicative recombinant syllog1sm is composed of two premises
which share a term,
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like the shared term ‘body’ the example above. This term can be in one of
the two [premises]
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as predicate and in the other as subject; or it can be predicate in both; or it
can be subject

055 O BB 531 Je Yooz lansol 3 logige 08 13)5 Lo 3
in both. When this term is the subject in one and the predicate in the other, 106.15
then there are two cases. It can be

Transcription and readings checked 7 Feb 09.
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predicated of [the term that is] the subject of the goal and subject for [the
term that is] the predicate of the goal; this case is
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called ‘the first figure’. Or else it can be predicated of the predicate of the
goal

and sub]ect for the sub]ect of the goal. But when I come to discuss it, I will
eliminate this figure
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on grounds of deficiency, though it had to be included in the classification.
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[2.4.3] When people classified the figures according to the threefold
classification that
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we mentioned, where syllogisms come in three forms, they identified one
of these parts as being the first figure, and they took it as
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being the one whose middle term is a subject in one of the two premises
and a predicate in the other. But then when they considered

any specific premise pairs that presented themselves (idiom??), they took
‘first figure” to mean that the term that serves as subject for the middle term
remains

{NB ‘They take X min haytu ¢’ here means ‘They take X to mean that ¢’".}
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a subject in the conclusion, and the term that serves as predicate for the
middle term remains a predicate in the conclusion. This is a narrower

107.1

107.4
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meaning than the one originally assigned for this figure.
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Then because they counted the first figure not as the one satisfying the gen-
eral condition that the middle term occurs both as subject and and predi-
cate, but where
{Should be anna rather than li-anna, shouldn’t it?}
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the middle term is predicate of the subject of the goal. and subject of the
predicate of the goal, they devised a fourth subdivision.
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The best of doctors mentions this fourth figure, but he doesn’t take the view
that we do. Here we reject it
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because it is unnatural, unreasonable and inappropriate for the conduct of
the enquiry and reflection. And it is not needed,
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thanks to the possibility of converting the conclusion of [a syllogism] in
tirst figure; we will explain this elsewhere.

{Is this a reference to 110.6£f? }

[2.4.4] So let )
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the first figure be what we said it is. The second figure is the one in which
the middle term is predicated of
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both the two extreme terms. The third figure is where the middle term is
subject for both the extreme terms.

107.10
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The extrem"e term which is the subject of the goal is known as the ‘minor
term’, and the premise which contains

Transcription checked 7 Feb 09. Readings checked 28 Sep 12.
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this extreme term is called the ‘minor premise’. The extreme term which is
the predicate of the goal is called
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the ‘major term’, and the premise that contains this extreme is called the
‘major premise’. A composition of two premises
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is called a ‘premise-pair’. The thing from which the conclusion has to fol-
low intrinsically is called a ‘syllogism’. The format of the relation
{The li-datiha refers back to bi-datiha in the definition of syllogism at 54.7. }
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between the middle term and the two extremes is called a ‘figure’. The
thing that follows is called the ‘goal” while we are still making our way
towards it through the syllogism.
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Then when it has followed, it is called the “conclusion’.
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[2.4.5] The first figure is put as the first figure just because
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the fact that its conclusion follows is self-evident, and the syllogisms in it

are perfect. Another reason is that it entails each kind of goal, whereas the
second figure entails only
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negative propositions, and the third figure entails only existentially quan-

tified propositions. Moreover it entails goals of the best kind, namely uni-
versally quantified

NONT

affirmative propositions.

108.5

108.5
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[2.4.6] Know that: 108.8

1. There is no syllogism from two negative propositions,
2. Nor is there from two existentially quantified propositions.

3. The minor premise is not negative [[unless it is a contingency propo-
sition]].

4. The major premise is not existentially quantified.

5. And know that the conclusion follows the worse of the two premises,
not in every respect, but in quantity and quality though not in modal- 108.10

ity.

{Camestres and Baroco are both counterexamples to the third condition.
Could the suspicious item about contingency propositions be a corruption
of a clause covering this? }

e [ R F PR S O I P A
{NB This is a typo for the peiorem rule.}
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You will learn these things later
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as we consider the separate cases.
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The first figure: 108.12
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[2.4.7] Consider a syllogism in the first figure. Given that its minor 108.13
premise is affirmative, [it is asserted that some or all of the things satis-
tying] its minor term are included

e Ja b F e B o) sl g O 156 g3l ale JUa Lo



QIYAS ii.4 Prior Anal i.4, 25b26

among the things that satisfy the middle term. So when the major premise
is universally quantified, if it affirms or denies [the major term] of every-
thing that satisfies

o3 g a8 bWl e Y b F e Kb ] ikl
the middle term, regardless of how it does so, [it follows that the things

satisfying] its minor term are included among [the things that satisfy, or
respectively fail to satisfy, the major term].
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But if [the major premise] was not universally quantified, it could happen
that [the things satisfying] the minor term escape [the major term], since it
could happen that [the premises are true but]

Transcription checked 7 Feb 09. Readings checked 28 Sep 12.

108.15



QIYAS ii.4 Prior Anal i.4, 25b26
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the ‘some” individuals [witnessing the major premise] are not [those satis-
fying the minor term]. (This could happen equally well when [the major
premise] is a necessity proposition or a possibiity proposition.) And if [the
minor premise] didn’t

(Olsle laag (o Lo m g 1ol amiad i) e Yooz L)
predicate [i.e. affirm] the middle term of the minor term, then you will
find [a syllogism of the same form] with minor and middle terms such that
nothing satisfies both of them;
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and things that are denied of both of them, and the two are disjoint. So it
doesn’t follow that what [the major premise] says about the middle term
{We surely want things that are true of all of one but none of the other? }
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holds also of the minor term, regardless of whether [the major premise] is
an affirmation or a denial. If the major premise is existentially quantified,
then the same holds a fortiori;
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or rather, if the middle term is existentially quantified [in the major premise],
and the middle term is predicated of the minor term [in the minor premise], 109.5
then what is said of the middle term [in the major premise] doesn’t have to
transfer to the minor term,
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since what is asserted or denied of the middle term is asserted or denied
of ‘some” of the middle term, so it is possible for the middle term to cover
more things than
{NB Here the quantifier is definitely part of the hukm.}

S Iy St UL NE P S UINTC PRI NR
the minor term, and the assertion or denial [in the major premise] is about
some things that are not covered by the minor term,
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so the assertion or denial is about things not satisfying the minor term, and
we are in the situation discussed earlier. So it is clear that

cads 2la J = liag Cw ‘) T sy Wl o aall col 3]
when the minor premise is negative and the major premise is existentially
quantified, the premises don’t entail a conclusion. We should stop there

EHERE S E N VOT V NUNREE 7 S P W PSR
and not bother to enumerate the moods that are unproductive because no 109.10
determinate conclusion follows from them.
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When you have understood what we said earlier, you can give examples of
such moods.
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[2.4.8] Know that unquantified propositions behave like 109.11
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existentially quantified propositions, in that they can legitimately occur as

minor premise in a syllogism with an unquantified conclusion. Singular
propositions behave
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like universally quantified propositions. In fact there can be a syllogism in
which both premises are singular, for example

(2)  Zayd is the father of Abdullah.

and
(3)  Abdulluh is this person (or the brother of “Amr).

But the conclusions will be

S e Dlalie Slogard! Jaatad Lo ATy axt
singular. Most of the singular propositions that are used [in syllogisms] 109.15
occur as minor premises.

10
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[2.4.9] Let us list the quantified moods. We say: 109.16

When every C'is a B;
(4) andevery Bisan 4;
then clearly every Cis an A.

{BARBARA}

Transcription checked 9 Feb 09. Readings checked 6 Jan 13.
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And i )
When every C'is a B;
(®) andno Bisan A4;
then it’s clear that no C'is an A.

{CELARENT}
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And

When some C is a B;
(6) andevery Bisan 4;

then it’s clear that some C is an A.

{DARII}
And

When some C'is a B;
(7) andno Bisan A4;
then it’s clear that not every C'is an A.

{FERIO}
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[2.4.10] This is the first figure
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and its quantified moods are these four, and their conclusions are these.
And three of these syllogisms can be taken to have consequences
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that are converses of the ones above. If you make syllogi"sms with these 110.5
conclusions, the syllogisms aren’t perfect

b A W bl
in comparison with the ones above, rat‘;er one just proves what follows
from the ones above by [adding] a conversion.

12
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[2.4.11] Suppose someone were to say that there are other 110.6
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proauctive moods besides these, namely that when either

3 No C'is a B;

® and every B is an A.
or

) No Cisa B;

and some B is an A.
it follows that
(10)  Some AisnotaC.
Hbecause when you convert
(11) Every Bisan A.
‘Mfu‘);bc!ywdwsp‘wcm bo o sl o
or
(12)  Some B is an A.
then it follows by a syllogism in the second figure that
(13) Notevery Aisa C.

The answer to this

(o stall § sz lopaa] 3 01 G (s my s g 1) &)
is that one calls the premises major and minor just because the first contains 110.10
the subject of the goal
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and the second contains the predicate of the goal. When we make the
premise C' B the minor premise, where B is the

13
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middle term, then C' is the minor term and it will be the subject of the goal.
Likewise
{Le. the opposite to what he’s just said. We fix which is the minor premise
and which the major, and this determines the form of the conclusion. This
is clearly what happens in practice, particularly when the conclusion is not
yet found or may not exist. }

s 3 bs o) by 2 Y 136 stlal) Jsas 1055
A will be the predicate of the goal. And when we said that it doesn’t entail
either a denial or an affirmation, we meant that this

S5 o5 ot B st oyl i Ol By Jses |y ity ¥
doesn’t entail any conclusion with A as its predicate. That deals with the

doubt. Even if these moods do entail a conclusion, it is not from the major
and

Transcription checked 9 Feb 09. Readings checked 7 Jan 13.
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111

s b de (5 ey

minor premises that were posited.
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[2.4.12] Nevertheless it does reduce to a perfect syllogism through two
conversions. But this is remote
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from nature; it fits the [residual] subdivision of the figures, which is invali-
dated
{The figure that Ibn Sina regards as invalidated is the fourth figure, and it’s
the fourth figure that we get by converting the conclusion of a first figure
syllogism. So I can’t see how in this line he can be saying anything other
than that the two moods under consideration are in fourth figure. This
means either replacing al-tant min al-"agsami I-'arba“a ti by al-rabiati or per-
haps better al-baqi min al-'aqsami I-"arba‘a ti by al-rabi°ati, or supposing that
Ibn Sina is temporarily using a different ordering of the figures. See also
111.5, where except for five listed mss that have bagr, again he calls this the
second subdivision. }
{In (110.7) he goes from ‘No C'is a B’ and ‘Every B is an A’ to ‘Some A is
nota C”. To get the major and minor premises in the right order, this would
need to be written ‘Every B is an A’, ‘No C'is a B’. So it is in fourth figure.
Converting the premises to ‘Some A is a B’, ‘No B is a C” gets it back to
first figure but with two conversions. }
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by its extreme remoteness from nature. In fact the second figure is remote
from nature through having a single premise — the major one — in the
wrong order.
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The third figure is remote from nature though having a single premise —
the minor one — in the wrong order. When

the remoteness occurs in just one [premise], the mind tolerates it and sees

15
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how to reach the target. But the residual subdivision of the figures
{For tanin read bagr with several mss. Note also that a ms confuses these
two words at 112.5 below. }

e pien shy xSl 5 ] el Y1 )03, 5 pli
has to have both premises altered in order to reduce it to natural form, and
this is something we can do without.

ok O eake 4 sa Loy o J530
The best way to deal with this and similar syllogisfns is to count them as
invalid.
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[2.4.13] The second figure:
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The distinctive feature of the format of this figuré is that its middle term
is predicated of both extreme terms. Its distinctive
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productivity condition is that in it a pair of affirmative premises is not"pro—
ductive. This is because one and the same predicate in [both] affirmations
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(for example ‘body’) can be predicated [truly] of two disjoint things (for
example ‘stone” and ‘animal’), and also of things that coincide (for example
‘human’ and ‘laugher”).
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A pair of negative premises is not productive either, because one and the
same predicate (for example ‘stone’) can be [truly] denied of two disjoint

things (for example ‘human” and ‘horse’),

and of two things that coincide (for example ‘human’ and ‘rational’). Also a
pair of existentially quantified premises productive [in this figure], because
one and the same predicate can be both affirmed [truly]

16
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of some of a thing and denied [truly] of some of that thing, and it can be
[truly] affirmed and denied of some of

Transcription checked 9 Feb 09. Readings checked 11 Jan 13.
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two disjoint things. Nor is it productive when the major premise is exis-
tentially quantified; when [the minor premise] makes an assertion about
‘Every [C] and

{Given the cases above, we have to show that ‘Every C is a B and some A
isnota B’, or 'No C'isa B and some Ais a B’, are not productive. We show
it by showing that there can be (1) terms satisfying the premises and such
that every C'is an 4, and (2) terms satisfying the premises and such that no
Cisan A. }

{Several mss felt a need to add further explanation here, though the details
they add are different. }
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[the major premise] makes an assertion about “some A”, it can be that [A]
is true of
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every [C] but [A] is broader than [C], so that while [A] is true of [C] there
is some [A] that is not true of [C]; but also it’s possible
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that [A] is disjoint from [C] and none of it true of [C']. These are the distinc-
tive features of productivity in the second figure. But this is just

say wiil ga Loty GY (YT e UL K e STy (b e
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the second figure, and there is a further figure. These two figures are dif-

ferent in that the second figure entails conclusions that are more useful,
namely universally quantified propositions,

Vot ¥ g sl A O8Ol (AN YL At YW1 sy
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whereas the further figure entails only existentially quantified propositions.

But the further figure does entail affirmative conclusions, while the second

18
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tigure entails only negative ones.
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In fact negative universally quantified propositions are more useful than
existentially quantified affirmative propositions, that’s to say that they are
more useful in the sciences. [The second and third figures differ also] be-

cause one can reach the first figure from it
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by converting its major premise, whereas from the remaining figure one

can reach the first figure by converting the minor premise. So the remaining
figure

e dal ) djﬂ g dgiﬂ
comes closest to the first figure in the higher of its two premises.
{NB ‘Nobler premise’: this is a very silly comment. Can it really be Ibn Sina
speaking? But note the use of Saraf in Burhan. }
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[2.4.14] Turning to premises that are empirical and have no necessity in

their content: it is just our sense of what is right and what we take to be for 112.10
the best that calls us to
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consider them. [Aristotle] did not see them as providing any reasons to go
beyond the range of facts that we have indicated. Nevertheless
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we will go further, and set out explicitly some facts that will make it im-
possible for us to maintain an attitude of modest acceptance. To be precise,
take the

et logs Gllall KLl e iy b s e allal ) K1 L)
negative universal absolute proposition, understood as such propositions
normally are understood, so that it is understood without

Transcription checked 9 Feb 09. Readings checked 11 Jan 13.
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any condltlon belng added — it makes no dlfference whether we take ‘ab-
solute’ in the broader or the narrower sense. [The fact is that] there is no
[productive] second figure syllogism whose composition

{Unclear whether the condition is added to the proposition or to the defi-
nition of ‘absolute’. }
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uses such a proposition. This is because a negative universally quantified
absolute proposition and the [corresponding] affirmative universally quan-
tified absolute proposition

Y dgtﬂ f"\‘"ﬂ‘ J Al ubjj‘ Ay LAy st s e Qe W5
can be both true together of the same subject. Examples of this already
appeared in the First Teaching. Thus

Fs £6 old) 3V bl 5 Jly ud 0lad) 5 2L olud)

(14) Every human sleeps.
and
(15) Every human doesn’t sleep.

can be true together, because [firstly] every human sleeps, and [secondly]
there are some times at which every
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human doesn’t sleep. This holds generally, when a predicate is predicated 113.5
of every individual, not permanently
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but at some time, and it is also denied of every individual, not permanently
but at some time. The same holds if
{Unclear whether the bal clause means it is required not to be permanent,
or just that it is not required to be permanent. }
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its predication is allowed not to be permanent, even if it is not affirmed that
the predication is not permanent; one should know that

A Kl i 3 ks Glal) o slly Gllall COLL e siay o 2.

a syllogism in this figure, with a negative absolute premise and an affirma-
tive absolute premise, need not be productive. That is, not unless [one of
three cases holds.

w
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The first is that] the negative universally quantified proposition which is
used is the standard expression which — as we explained — does convert.
[The second is that] the absolute proposition

pam 3 W ad] Gaa 3] ¢ aal b Jemd YN I Gallal]
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that is used is one whose absoluteness belongs not to the predicate but to

the quantifier, where the quantifier counts as true of all the subject individ-

uals at some particular time.

{It could be not ‘belongs to’ but ‘is attached to’, though there is no attach-

ment word. }
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[The third is that] the two propositions have a property that is difficult to
take care of, namely that the time is one and the same in both of them

{NB Difficulty of correlating unstated conditions between the two premises.

}

Sl o) asly W 2y oKl o) lasly g
if possible, and under the same condition if possible.
{Why the ‘if possible’s? }
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[2.4.15] But propositions that are absolute in the sense that no condition
is added are not customarily used in the sciences

S iy F G A Jont ol Bl oo b e lblal) s
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or in debates. Rather the custom is that when negative propositions are
used in any topic, one intends

WSl O JF edsd 3 8ol s 25 allisy Lol 53 il b 2l
the condition which we mentioned. And likewsie it has been customary to
use the sentence

(16) Every Bisan A.

{What condition did we mention? That the proposition converts? that the
absoluteness is on the quantifier? that the times are the same in both cases?

}

with the intention that every B is an A while it is a B. So one has to pay
attention to

Transcription checked 9 Feb 09. Readings checked 11 Jan 13.

22

113.15



QIYAS ii.4 Prior Anal i.4, 25b26

114

5\3‘)5«-“)’%” & QLI = Jomtadls oumy Loy ) 1o u” BEY)
these two usages in this figure and the next [figure]. So let us use the nega-
tive in the standard way, since
{Which two uses? I guess (1) the ‘standard’ usage and (2) the descriptional.
I guess the next figure because this is partly reduced to the second. }

el 0355 O KAl e 2] bt 3 ot 105 o il o] ol
this goes best with our purpose. We say: The productivity condition for
this figure should be that one
{See Jadal 153.14 for this usage of ‘ajma‘u li-. }

G xS 055 ol il 5 53]y e oxte3all
of the two premises is affirmative and the other is negative, and that the
major premise is universally quantified.

<yl Sy
[2.4.16] Let us mention just the moods

that are productive.

e L T iy WL sy o e i3 vl
The first mood: From two universally quantified premises with the ma- 114.5
jor premise negative, there follows a universally quantified negative propo-
sition, as in:
{CESARE, proved by converting major premise to get Celarent. }

AN K Bl by 1 s @36 o st Yy o I

Every C'is a B;
(17) andno Aisa B;
sono C'is an A.
To demonstrate it, we convert the major premise

so that it becomes ‘No B is an A’, and then [the syllogism] is

Every C'is a B; and no B is an 4;
(18) .
sono Cis an A.
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We can also prove it by way of absurdity. We say: If [the conclusion] is
false,

MZJBy‘M‘@&“?‘Cﬁ‘g‘:YQK)‘Cu"’fﬁ

then let some C be an A. We had that no A is a B, and it follows by [a
syllogism in] the first figure that not

{By FERIO. For below, note that if the sentences are read descriptionally,
then we have that some C is an A all the time it’s a C, and there is no A
that is a B all the time that it’s an A (taking the weaker possible reading).
Therefore there is a C that is not: B all the time it’s A, but also is an A all
the time it’s a C'. NB Nothing follows. So take the stronger reading: Every
Ais anon-B all the time it’'s an A. Now there is a C thatis an A all the time
it’'s a C; so all the time it’s a C, it is a non-B. So there is a C that is a non-B
all the time it’s a C'. This contradicts that every C'is a B all the time it'sa C.

}

sl S F o o F
every C'is a B. But we had that every C is a B, and this is absurd.

s &) s of B,
[2.4.17] Now someone might well say: This
{NB The objection to the proof of Camestres is answered by showing that
the proof works for the descriptional reading; there is no argument that it
works in general. }

SB ¢ s 0 of b LA Y il Bl Y ks
is not an impossible absurdity, because you needn’t get a falsehood by say-
ing both ‘Every’ or “Not every” when the propositions are absolute. In fact

F s F ¥y valy F 4o s F 055052
it’s possible to have ‘every’ and mean by it every individual at some time,
and not every’ and mean by it every

ok o) 3 ke w3 BT Lled b cale g ¢ =T 3y amly
individual at some other time, and this is not an absurdity. The answer is
that we have already set out the line that we are taking

Cpble ol e ¥ Gar Lie OF Lo colitlaal) Wlaata)] 3 Lea o)
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here in our use of the absolute. One case is where the meaning is that no A
is a B all the time thatitis an A4,

{Which way round the scope? As at 114.9 above, it has to be: Every Ais a
non-B all the time it's an A. }

05 ¢l U e e Vi i 3

and likewise the sentence 114.15
(19) EveryCisabB.

just means

(20) EveryCisa BforaslongasitisaC.

The conclusion will be

Transcription checked 9 Feb 09. Readings checked 12 Jan 13.
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that no C' is an A all the time that it is a C. But this can’t be true at the same
time as the statement ‘Some C'is an A

{NB by notes above, this has to say that every C' is a non-A all the time it’s
a C. Note that by using A and C, Ibn Sina has implicitly switched to the
straight first-figure Ferio; in his proof of the second-figure Cesare it was C'
and B, not C' and A. }

J s Ba 3B - b b
for as long as itis a C”, and so this is an impossible absurdity.

&) Gl (gie A bl 3 W pwor
[2.4.18] [Returning to the main argument,] the reason for [the absurdity]
is either that the syllogistic format is not productive, or that

S o e st Yy e bl 5K 23K Lol
the premises are false. But the premise-pair is productive and the sentence
‘No Aisa B’ is

O3} e st S | ams 19 O ga il Ol i i desgs
posited as true. So the remaining possibility holds, namely that the reason
for the absurdity is the falsehood of the sentence ‘Some C'is an A’. There-
fore

. ‘ C Cj.&

no C'isan A.

{Here he returns to the reductio argument. Since this is his first proof of a
syllogism by reductio, he explains the rationale. But he garbles it; the fact
that a proposition is posited as true doesn’t make it in fact true. The ‘reason
for the absurdity’ is that incompatible things have been assumed. So we
can assume one of them and use the absurdity to discharge the assumption
of the other and infer the falsehood of the other. This doesn’t show that
the other is in fact false. But Ibn Sina has no language for talking about
discharge of assumptions. }

s Oly ccaldly Kl e 0y J) 2l ¥ G 555 J6
[2.4.19] One person said:
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There is no need to prove this by conversion or absurdity, since
it

A
is self-evident. It is clear that when B is [truthfully] denied of
one thing and affirmed of another thing,

B4 e g 2 085 0 g ke TOFT I ol 0BG
J==

then the two things are disjoint, since A is disjoint from B and
C is not disjoint from B.

The person who took

{It's tempting to delete from ’ida to lahu, since the comment was made by
somebody who didn’t understand the argument. But Ibn Sina is quoting,
and for all we know, the error was made by a translator into Arabic and not
the person being quoted.}

Gl o o @ Gus iy QU Ov G il ey WL YT e
this to be self-evident is failing to distinguish between what is self-evident
and what is nearly self-evident.

Ol 36 s (soell gt B Just B e C““ ke s o Gl
The person who stated this argument failed to distinguish between the ar-
gument and the claim itself. It’s true that two things being disjoint

iy a5y e WS amly ane =Y e Lanad sl
is equivalent to one of them being [truthfully] denied of the other, as you 115.10
know. But the mind necessarily pays attention

Caog ¥ A ST W G i 2 O sk o ) 6y 0
to the fact that what [the premise-pair] says is

When C is B which is disjoint from A (or which doesn't fit the

@1) description A).
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So its reduction to something evident can be the actual implication. This
person has already been contradicted by a person who understands

S0l 3 il sk 536 1 3y Dmee Liblia Ll
‘disjoint” to mean genuinely contradictory. There is a long discussion of
this in the section of Appendices.

o 1das

[2.4.20] This [premise-pair] is also productive
G Oz FiWs Ol ags b b K Gslall e ) L]

if one takes the universally quantified goal in the way that some people
think, that the sentence ‘Every C'is a B, with absoluteness’

3ol 09 Ol a0 0 e b Sy 3 Bem odl bkl O

Il
means that all the existing C's at some time are Bs, given that the time is
the same in both the negative

Ba ) caly ¥ ol o seVly daaly o sl
and the affirmative premises. The best response to this is to ignore it.

Ll Il wcw Wl (s mally e e 31l
[2.4.20] The second mood: From two universally quantfﬁed premises,

where the minor premise is negative, there follows a universally quantified
negative conclusion. For example:

e B G6 . 1 m me e S0 OV By 0z gmest ¥
No Cisa B;

(22) andevery Aisa B;
sono C'is an A.

Thus when we convert
{CAMESTRES}

Transcription checked 9 Feb 09. Readings checked 12 Jan 13.
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the minor premise and we add it to the affirmative premise, they entail ‘No
Ais a C’, and then the conclusion is converted as required.
{By Celarent. }

:Eua.v.dt ANy ‘Eua.-u 08 o) &1 L) a5 i
[It can also be proved] by absurdity: if some C'is an A and every Ais a B,
then some C'is a B.
{Major plus negation of conclusion gives negation of minor by Darii. }

e LK Wl s a5y Ao Wi (g e oo I Ol
[2.4.21] The third mood: From an existentie;lly quantified affirmative 116.3
minor premise and a negative universally quantified major premise. For
example:

A Sy RV F e o e s Yy 0 L

Some C'is a B;
(23) andno Aisa B;
so not every C'is an A.

It is proved by conversion of the negative premise.
{FESTINO, conversion reduces to Darii. }

And by absurdity, if every C'is an Aand no Aisa B, thenno C'isa B, 116.5
{Reduced to Celarent. }

e E o2 O
whereas we had that some C' is a B.
o e T L g0 LS (i Wl (ke o TIPS
[2.4.22] The fourth mood: From a negative existentially quantified mi- 116.7
nor premise and an affirmative universally quantified major premise. For

example:
{BAROCO}

oK T lly K5 ¥ Tty g F o o Voo 0 F
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Not every C'is a B;
(24) andevery Aisa B;
so not every C'is an A.

The existentially quantified premise doesn’t convert. The affirmative premise

converts

Fob o) 61 Gl ot e UL &554 ) o =YL oA 6 &
to an existentially quantified proposition so it doesn’t combine W1th the
other existentially quantified proposition to yield a productive premise-
pair. So let us prove it by absurdity: if every

o2 o r Fod oo Kool Fde
Cis an A and every A is a B, then every C is a B — but we had that not
every C'is a B. Or [for ecthesis] let some of C

{For absurdity, reduced to Barbara. Then for ecthesis, reduced to Camestres.

Instead of saying ‘for ecthesis’ (fard) he says li-yufrad); this is impossible in
English since we have no verb “to ecthesise’. }

sd\aM&<u‘ﬁ<gbw5wM34 bﬂjwjuwﬂ&.d‘
which is not a B be chosen; 1dent1fy1ng it, letitbe D. Thenno Disa B, and
every Aisa B, sono
{li-tu“ayyin is a rare li- with 2nd person jussive, probably influenced by the
mathematical style (li-yufrad etc.), cf. 117.14 below. }

J3N ) mmd ¢ 3 a1 o
Disan A. But some C'isa D. So it is reduced to the first figure.
{This second reduction is to Ferio. }

The third figure:

Cgu\!u‘ob‘dw\oj wbuwbdﬁ.du.u Lol

[2.4.23] You know the distinctive feature of this figure in terms of its
construction. The special feature of its productivity is that it entails only

&KL@AL\DB ““-’j"’ LSJ,'..A-H ng.z Q‘j.asc.uu‘d dajwjﬁbf \“

existentially quantified propositions, and its productivity condition is that
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the minor premise is affirmative and one of the premises is universally
quantified.

e sty s b e Obsladl oLe¥ 06K o) e (1 ol Wk ol
If both premises are negative, the two things denied of one thing don’t have
to be either compatible
{To prove the productivity condition we only need to show that the minor
premise is not negative. }

Transcription checked 9 Feb 09. Readings checked 12 Jan 13.
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oan G o el V05 O sle vl WK 0] il
or distinct. If both premises are existentially quantified, it’s possible that
the one thing is affirmed in some
{To rule out an I conclusion we want that they are disjoint, i.e. not com-
patible. To rule out an O conclusion we want that they are equal, i.e. not
distinct. }

DALl 05K O Sl am o8 s G § s 055 Ol et
thing, and that it is affirmed in some and demed of some; and it’s p0551b1e
that two disjoint things } {So A and C can be equal, since we can have the
same thing true of some B and of some B, and also true of some B and
false of some B. We don’t need both false since the case of two negatives
has already been excluded.}

gm0 e Ay e 3G ey sl b can S
are both [truthfully] affirmed of some [B], or one is [truthfully] affirmed of
some [B] and the other is [truthfully] denied of some [B].

{It should be not different but disjoint. The simplest correction, though no
evidence for it in the mss, is to replace muktalifani at the end of line 2 by
mukalifani. }

do gy o ey O Al e et e B3] gt § Wl s aall s 0l
If the minor premise is negati.ve and [B] is [truthfully] denied of [A] and
[B] is true of [(C], it doesn’t have to be either that [C] is true

of [A] or that it is false of [A] You should look for terms [to prove these 117.5
statements].

‘ E: F e (i 00 Do o U 5 R e 13V Ol
[2.4.24] The first mood: from two universally quantified affirmatives 117.6
there follows an existentially quantified affirmative, as in

Every Bisa C;
(25) and every B is an A.
{DARAPTI}
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It doesn’t follow from this that every C is an A. In fact it can be that C' is
broader than B

AN pseddl 3z 030 Ul 7 d bsbes B O K 252 511 0550
and a thing which is true of every B is either false of [some] C or entirely
outside C'. But
{The ‘or’ case is clearly impossible here, so why does he mention it? }

PLB) 92 g sa paadl el Sy 1 e 05K O o2
it does have to be the case that some C'is an A — let this some be B. This
is an ecthesis.
{NB Here Ibn Sina takes ecthesis to be the inference ¢(a) so 3x¢(z), not the
J-elimination. Not really; he could be referring to the whole argument. }

et YOS Ol B sl o By o g pam 0598 el KA
Or let us convert the minor premise, so that [the premise-pair] becomes
‘Some C'is a B’ and ‘Every B is an A’. Or let us say: If no
{Uses conversion and Darii. }

Cisan A and every B is a C, then no B is an A, whereas we had that every
Bis an A, which is an absurdity
{For absurdity, reduces to Celarent. }

T EUR ST
of the kind we mentioned.
e Al oty Wl sl R e 31 O !
[2.4.25] The second mood: From two universally quanti'ﬁed premises,
of which the major premise is negative, there follows an existentially quan-

tified negative conclusion. For example:
{FELAPTON}

w

Every Bisa C;

26 ¢

(26) and no B is an A.

It doesn’t follow from this that no C' is an A,
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because C can include both the other terms. But it does follow that not 117.15
every C'is an A. For this, identify as B the ‘some’ [C which is not an A],
{NB Curious counterexample to an example of Partee and others. }

Transcription checked 9 Feb 09. Readings checked 12 Jan 13.
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Or let us convert the minor premise. Or let us say ‘Otherwise every C'is an
A, but no
{Converting the minor premise would reduce to first figure Ferio. }

s Ui £ O F o ¢ o e s WIS
Bisan A,sono Bisa C. But we had that every B is a C, and this is absurd.
{Reduced to Camestres, so we have third figure reduced to second. }

e s d g0 By (5 e g &S e I Ol
[2.4.26] The third mood: From an existentially quantified affirmative 118.3
minor premise and a universally quantified affirmative major premise:
{DATISI}

wisumwuj‘zumcwwjjgzjw

Some Bisa C;
(27)  and every Bis an 4;
it follows that some C is an A.

It is proved in the way you learned

NEN RPN
for the first mood. 118.5

e AT Lz gs By (e Lmge T el O
[2.4.27] The fourth mood: From a universally quantified affirmative mi- 118.6
nor premise and an existentially quantified affirmative major premise. For
example:
{DISAMIS}

w
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Every Bisa C;
(28) and some B is an A4;
so some C'is an A.

It is proved by ecthesis, by identifying the some
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B which is an A, and letting it be D. So every D is an A; and every D be a
B and every Bbea C,

{yakun should surely be wa-yakiinu, though there is no ms evidence for this.

¥
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so every D is a C, while every D was an A, so some C'is an A. Also it can
be proved by converting the major premise and then converting

{The ecthesis reduces to Darapti! }

NS U T R SN SRS TSt N
the conclusion so that we have: Some A is a B and every B is a C, so it 118.10
follows that some A is a C, which converts to: Some
{Conversion reduces to Darii. }

RN YR PP L R RETCAV U S

C'is an A. It can also be proved fay absurdity, namely if no C is an A and
every Bisa C,
{Absurdity reduces to Celarent. }

then no B is an A, while some B was an A. This is absurd.
e o Wl im g 5 Lo go e pmeld] O ally
[2.4.28] And the fifth mood is from a universally quantified affirmative 118.13

minor premise and an existentially quantified negative major premise.
{BOCARDO}

s3] Sl e K Y Kb 1o F oy 7 0 F

An example is:

Every Bisa C;
(29) andnotevery Bisan 4;
so not every B is an A.

This is not proved by conversion, because the major premise

Transcription checked 9 Feb 09. Readings checked 12 Jan 13.
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doesn’t convert and the minor premise converts to an existentially quanti-
fied proposition. It can be proved by ecthesis, by stipulating that the idea

[B AND NOT A] is D; then as you know, we have that every D isa C, and

no Disan A.
{This reduces to Felapton. }

NE-1ES ‘;\"CPJ{W“T’J{J‘QJ‘CJQKQQJ“‘&;QJ
And [it can be proved] by absurdity; namely if every C' is an A and not
every B is an A, then not every Bis a C. This is absurd.

{Reduces to Baroco. }

SUNSIPPU N W g P YU IR v T IR I R |
[2.4.29] The sixth mood: From an existentially quantified affirmative
minor premise and a universally quantified negative major premise. For
example:

ol sl oSy o Ve T 1o e et Yy 2 o am

Some Bisa C}
(30) andno Bisan 4;
so not every C'is an A.

It can be proved by conversion of the minor premise, namely
{FERISON}

one says: Some C'is a B and no B is an 4, so some C is not an A by the
{In fact by Ferio.}

Vo et Y Oy Tz B ol by g5
first figure. And by abs"urdity, namely one says: Otherwise every C'is an A,

and we had that no Bis an A4,
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sono B is a C; whereas we had that some B is a C, and this is absurd.
{Reduction to Camestres in second figure. }

Il aele Il lis o) s O ols J3Nt Kt &l (J.sb
[2.4.30] Know that although the other two figures are reduced to the 119.9
tirst figure, those two figures do have

A ) 3ldly U omedal! W) Iled] i 3T g (80506 - 2305 -
their own special use, némely that with some nega"tive propositions, the 119.10
way that they naturally come first into the mind

oK 0l legsge 2V Yeaz L o oV el 6K 0 9a Y31 e
is with a particular one of the two ideas in them as the predicate and the
other as the subject. But if the proposition is converted,

o s o s Jaoadll ) Gl e OF ek S ]1
the result is not what naturally comes first into the mind. An example of
this is the sentence

JUT 1Sy il ) il pmd e ia 30 ciL3 ) 2aig olod)

(31)  The sky is neither light nor heavy.

which is a denial in the form that naturally comes first into the mind. The
same holds
{As opposed to ‘Nothing light or heavy is the sky.” See below. }

s WE &S e bandl W w\.‘j Wl ! o Wed g

of the sentences

(32)  The soul is not mortal.

(33) Naked fire is not visible.

And the conversions

ot et o ;‘“L“““'-’ Jﬁiﬂ‘j Caad| oe 8 Y :Wgd 8 o

of these are for example: 119.15
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(34) Nothing light or heavy is the sky.
or

(35) Nothing mortal is a soul.

Transcription checked 9 Feb 09. Readings checked 13 Jan 13.
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or
(36) Nothing visible is fire.

Even if these [converted] forms are true, they are not the natural forms in
which

s g Zegge 055 0L Jsl JWI OB -l ] Gildly onel!
the proposition first comes into the mind. Fire comes first because it is the
subject of which one denies

W iy W e gy Legege 055 OF JAY oo JUA
visibility, rather than visibility being the subject of which one denies fire.
Likewise in the other examples.
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In fact the situation is the same with existentially quantified propositions.
Thus when we posit ‘animal” and ‘human’ and an

Ngez iVl Laill 3 lsdse Oledl 05 ol Mm J oY) 8 (5
existential quantifier, the best arrangement in this case is that ‘animal” is 120.5
the subject in the proposition and ‘human’ is the predicate,

Olgem W) an (W3 2o B> 08 o)y canks

not the other way round, even though it is true that
(37)  Some people are animals.

RS 3 e
[2.4.31] Then it is possible in many 120.6
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places that a premise-pair consisting of one negative proposition and one
affirmative, and the result of taking care to put the negative proposition

Ga o g W) Jol sa e oy mro 3a Lo Je 055 0 LI
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into the natural and preferable form is just that the premise-pair takes shape
asa

sl O B el e e Ll 05K Bl Sl
syllogism in the second figure. So the premise-pair consisting of these two
propositions will be more natural if it is put in the second figure.

Kl & de w6 KON o o 5y 51 il 05K L3S,

And likewise a premise-pair consisting of an existentially quantified propo- 120.10
sition in its natural form and a universally quantified proposition may just
turn out to have the form of

o gll e Al o (I3 Rl e e 3] 200
a third figure syllogism. Then when we convert so that the premise-pair
reduces to the first figure, the negative proposition comes to have a form

which is not what naturally comes first comes to rnmd and an ex1stent1a11y
quantified proposition in its natural form becomes unnatural.

o aan L 03] 2l U1 A6

So we do need the second and third figures.

Gllal| Ll 31 2k ey
[2.4.32] The person who thought that absolute propositions 120.13

J oo talal) Llad)) U Jornad o gl AT 36 Las i Jomiad

are not used in practice was mistaken. In fact absolute propositions of every
sort are used in most of the sciences,

£ SV o )l &sbis s (51 M Losasy (ol e i
and particularly in the science which is the art of the man who voiced 120.15
{From next line, this logician was a philosopher. al-Farabi? }

Gy O S5 sllan e oy Cpdill 31 e 01 i,
this opinion. Thisis because philosophers investigate any universally quan-

tified goal. When a philosopher wants to investigate

Transcription checked 9 Feb 09. Readings checked 13 Jan 13.
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a goal which is universally quantified and absolute, for example
(38) Is abstinence good?
and
(39) Isevery body mobile?
sl e s o (Ko il
it may not be possible to deduce these from necessary truths.

{darart presumably necessary propositions rather than necessity proposi-
tions. }
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[2.4.33] So now the facts about these three figures are known.

(S e L] 3 oS i el oledall ¥ dnds s Je 3],
[2.4.34] And that bei"ng the case, you should know that premise-pairs
consisting of necessity premises behave in the same way,

Sl Gl el sl e LR S g s
and the same goes for conclusions [that"are necessity proposftions]. But
they differ in the places where their proofs require one to use absurdity.

L)) O 13 Y 3y & e 09 Y Ll Lail OY s,
This is because the contradictory negations of their conclusions will not be 121.5
necessity propositions. The reason for this is that if the conclusion

136 2JWl el 5 Gly G0 el 3 Gl | = 6 ol )5 el
is that with necessity not every C'is an A — which can happen either in the
second figure or in the third figure — then when

NI I - R v P I
we say ‘If this is not true, then its contradictory negation is true’, then we
have just two options. The first is to take the contradictory negation, which
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is

(40) Itis not the case that with necessity not every C'is an A.
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But then you will find that this premise is not of a kind that can have added
toit
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one of the premises of the [original] syllogism [so as to make a premise-
pair]. The second option is to take a consequence of this proposition, namely
that

(41) Possibly every C'is an A.
This
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consequence affirms a modality, namely broad possibility. But you haven’t 121.10
yet learned how to compose syllogisms that consist of
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a possibility premise in the sense of broader possibility, together with a
necessity premise. So therefore there is no way to prove the syllogism by
absurdity
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before one has learned about syllogisms whose premises are a mixture of
possible and necessary.

Gly oLYL i of gacds
[2.4.35] So one has to prove it by ecthesis. Consider ) 121.12
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the fourth mood of the second figure. In this case we have

With necessity not every C'is a B;
(42) and with necessity every A is an B.
This entails that with necessity not every C'is an A’.
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{BAROCO. In line 121.14 correct kullu b a to kullu a b, as in several mss.}
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So let the ‘some” which is necessarily a C and not a B be identified
{NB Incomprehensible argument with Ibn Sina’s text. But as always he
means ‘There is C' that with necessity is not a B’. So his argument confirms
the reading of the sentence. }
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and called D. Since it was the case that with necessity no 121.15
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D is a B, and with necessity every A is a B, with necessity no D — and D
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is some C —is an A, and so some C is not an A.

[2.4.34]

121.14 At face value, Ibn Sina is using an inference from ‘Necessarily
not every C'is a B’ to ‘Some C is necessarily not a B’. This is the
Barcan implication. But that makes no sense here with modali-
ties on the predicates rather than the quantifiers.

121.16 The data in this line certainly yield that some C'is not an A, as
Ibn Sina claims here. But in 21.14 he claimed that this conclusion
holds with necessity, and that has not been established.

Transcription checked 9 Feb 09. Readings checked 13 Jan 13.
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And the fifth mood of the third figure goes:
Every B is a C with necessity;

(43) and with necessity not every B is an 4;
this entails that with necessity, not every C'is an A.

{BOCARDO LLL, cf. Najat 48.11 for more details. }
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Let D be
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[A B WHICH IS WITH NECESSITY NOT AN A]. Then the ‘some [C]"is D,
and with necessity

{It seems to me the sense requires the second c to be d, though no ms sup-
port for this is given. }

e

no D is an A.

Transcription checked 9 Feb 09. Readings checked 13 Jan 13.
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